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Triangulation

fuunph npywopp

UllwU uywpnud £ n qugwprlutpny Ywunuwynp pwqdwuyncu, quagwpubpp
hwdwpwluwywsd Gu 0-hg n — 1 pytnpny dwdwgnugh uwph nunnnipjwdp: 3Gwnn Lw
unphwugnywghw wpbg wju, wjuhupl inpnhtg GnwuynluuGph uywpbiny n — 3
wuynLtuwagodtin, npnup hpwp hGwn hwnygned Bu pEpllu Uhwiju guquipuGpnd:
Uuyntuwghsdp uwhdwuyned £ npuwbu punhwuncn Yynnd snilulgnn tnwpptp ququiputn
Jhwgunn nLnhn ghs:

Lwhu uwhdwutlup A quwagwehg D wuyntuwgsh
hGnwynpnipeintlu hwulwgnLp)nLup: Gupwnptup, A YGwnhg
uyuwd 2wndynid Gup ququwpRrUGNh ypwyny dwdwgnigh
uwph nunnnywdp Upusgle hwuunwd Gup D-h wjpwytunbphg
nplE JGYhu: Wugwd ynndbph pwuwyp juuyjwuGup
édwhu_hGnwynpnrpjnLu: LUwlwwbu,

wyp hbnwynpnipynLup wugwé Ynnutph pwlwyu £, Grb
uyubiup A yGunnhg W 2wpdytup dwdwgnygh ujwph
hwywnwy nunnnipjwdp Jhusle hwulGup D-h
owjpwytuintphg JGyhu: A-hg D hGnwynpnienlup
dwphu_hGnwynpnipjwl b we hGnwynpnipjwl
Jwpuhdnrdu E:

Lywpnud pGpdwé ophuwynid 0 quawphg (1,5)

wuyntbwash hGnwynnnieynitup 2 £, punnpnud dwjpu_hGnwdnpnueincup 1 E, huy

wg _hGnwynpnipincup® 2: huy (0,5) wuyntuwgsh hGnwynpnipejniup 0 ququpehg 5 L,
punnpnud dwpu_hGnwynpnieincup 5 E, huy we__hGnwynpnipintup hwyjwuwp £ 2:

UlLwu gwuywuncd £ Jwpunwhpwytp UGG 3wynphl: 3wynpp sahuinp, g np
wuyntbwagstpu GU uywnpywé: Lw ghinh Jhwju n-h wpdtpp, pwg Ywnnn £ Wulbwjhu
pwaquhgu hwpgbp wnnw| quauwrutnh gnygbph yGpwpetnuwyg, W Uubwl Upwu
Ywwuwnwuhuwlh wjn guwqwrubpp Jhwgywd Gu wuyntuwagdnd, rE ny: Iwynph Uwywunwyu
E gl 0 quawehlu wdtUwdnun wuyntuwash hGnwynpnienlup (puwn yepned inpywid
uwhdwudwl): “np wtunp £ ogutp 3wynphu hp bywwnwyhu hwulGine hwdwn
uwhdwuwthwy ryny hwnpgtin twiny Uulwjhu:

UwhdwUuwthwynrdutn

e 5<n<100
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Ppwywlwgdwl dwupwdwulbn
nLp whwnp E hpwywlwglbp hGnlyw) $nLuyghwi.

int solve(int n)
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Uju $nLuyghw ulsyned £ dho2win JGY wugwd quwhwunnn Spwaph Ynnuhg
n: pwaUwlywl quaguwrutph pwuwyp
Uju $nLuyghwl wtwnp £ yepwnwnduph nplk a b b ququputn Jhwglunn
wuyntuwaghdp a - n + b wdpnng ryh inbupndy:
e bt Ywu 0 YGunnhg Uhuhdw hGnwynpnipjwdp Uh pwuh wulyntuwagsdtp, nnwp wbunp
E JGpwnwnsubp nhwughg nplE JGyp:

JYGpp Lodwd dncuyguwh Ubpuncd Yuinpnn Gp hGunlyw $ncuyghwih Yulstn wub.
int query(int x, int y)

0<x,y<n

X: wnwehU ququweh hwdwpp
y: Gpunnpn quqweh hwdwpp

hwywnwy nGwpnd yGpwnwpduncd £ O

®dnfugnpdwygdw opnphuwy

Uhw’ quwhwuwnnn Gpwagnh Untinpwjhb injujutph W hwdwwwwnwupuwu $nLuyghwutph
ywlstnh ophuwy: Ophuwynwd tinpywé pwqdwuyncup bywnpywé £ Jeplened: Quuwhwinnn
6pwahpp UGpwoénLd £ Jhwju n-p:
QUuwhwwnn Gpwahpp JNLpupwlynen hwpgnd Yunwh utnwtinwipun Gipned, W nnup dGnpny
whwh ywunwupuwutp 1 wd O:

JYGpwnwpéunwd £ 1, Gprb x W y quauwpRrUGnpp Jhwgdwéd Gu wuynctuwaqdnd,

QUwhwwnn pwagph Ywsbph ophuwyutn
JnLuinpuwyjhlu Qul
vGn JdGpwnwnpsh Luwilistn JYGpwnwnpbdh
ndjuulitinh oppliuwy wndtpltn wndtpltn
7 solve(7)
query(0, 3)
query-u
yGpwnuwnpadunwd £ 0
query(0, 5)
query-u
JGpwnuwpdunwd £ 1
query(1, 5)
query-u
JGpwnuwpdunwd £ 1

solve-p yGpwnwnauntd
E1-74+5 = 12

Correct!
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Uhwynputph hwadwnyp
n(n=3)

UG pGuwnnud d6np tnjwd hwnpgtph pwlwyp Lowluwytup g-nd: Fwgh win, w = >
e 5L nnLp twp ny Ynntywn hwnpg Yud upuw wwwnwupuwl, wuwjw Yunwlwp pEunp
hwdJwn bwhuiwwnGujwd Jhwdnph 0%-n:
Grbt w < g, Junwlwp rGunh hwdwp Uwhiwwnbujwsd Jhwdnph 0%-n:
Grbtn <q <w, Junwlwp rtunh hwdwn Lwhwwnbujwsd Jhwynph 10 + 60 -

w-q

0p-
W—Tl/o D

e bLpb g <n, junwlwp REunh hwdwn Uwhiwwntujwsd Jhwynph 100%-n:

Gupwhiunhputn

Lw punwdtup JGYy Gupwhuunhn, W d6p vhwynpp dlewynpybine £ wnwlbhu pGuwntbph
Uhwynnputph gnudwph dhgngnd: Pwjg Upgnyrh pupwgpnid inbultine Gp Jhwju pGuwntnh
Jhwynputph gnudwph YGup (wnwyGugnyup 50 dhwynp): UhwynputGph Jjnwu YGup
Uhw2dwnydh upgnyehg htinnn: 6p Ytipguwywu uhwdnpp Yihuh dtp nLnuinpyus
(nLonLduGphg wnwybjwgniu Jhwynp unwgwd (nLddwu dhwiynpp:
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